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58,410
29,205
29,205

108,432
54,216
27,108
27,108

146,544

78,708

CHiENEsSdE 23] X

Mo A

36,000
18,000
9,000
9,000

24,000

12,000

307 212+01™

Moo

36,000
18,000
9,000
9,000

24,000

12,000

©
[w
gﬂ
=
[T
o O
>
©
Mo
0R
[

12,000,000 *30H 2

Mo

36,000

36,000
18,000
9,000
9,000

24,000

12,000

[wl
0
=

2

AHl XI2(

46,800

33,000

13,800

o]
| O
=
m
20

8
S

46,800

33,000

13,800

o=
rz

&
e
FH
40
Jo
o

©
O K
e ox
o
[

o
M0 HO

O

_>'-{_|

02 02 0%
cc=

1,000,000& « 122
600,000 122

46,800
19,200
12,000

7,200

33,000

13,800
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A IEFEAE
B w2 ==
ol SSAAE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oNdgd=2UEN=E=HH 2, 328 27,600
Odgr=g|
1,000, 0002 * 122 +20H 2 24,000
O=It2gH| 150,000« 12«20 2 3,600
MEISXAE SAHL e X2 2,160 1,440 720
307 212+01& 2,160 0 2,160
11 AMEISXAEEES 2,160 0 2,160
OUISHNESSHE SAHL XH2+g
0,000& x 122 +6 2,160
ARISXIAE SAH=E XI& 15,600 10,400 5,200
= 4,680
o 10,920
307 @201 & 15,600 0 15,600
s 4,680
s 10,920
10 Al2ISTIAEEE2GHIEX 15,600 0 15,600
OMISXAL(THENSS) SA=E X
el 2,600,000 x6H 15,600
& 4,680
= 10,920
OlSEXAIZ(CIENSSHE) SALL EESOH X2 4,598 0 4,598
= 1,379
[Ea 3,219
307 gl2tol & 4,598 0 4,598
=S 1,379
s 3,219
05 git?(& = 4,598 0 4,598
OB A SESOH| 766,250 6 4,598
[ 1,379
Ea 3,219
HEE SN2 28 X 80,000 80,000 0
= 24,000
o 56,000
307 el2tol & 80,000 80,000 0
= 24,000
o 56,000
05 212+ =S 80,000 80,000 0
oOFHAEAM2 24 80,000
== 24,000
o 56,000
2 S H2 2 (XA 25,000 15,000 10,000
307 glztol & 25,000 15,000 10,000
05 2IIRIE =2 25,000 15,000 10,000




K
I-I il—l :
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Ofl &F2H

MEE
Ofl &k2h

25,000

S

M H

116,488
58,244
17,473
40,771

113,424

3,064

307 212to1™

S

MO

116,488
58,244
17,473
40,771

113,424

3,064

58,244,000 *x2JH 2~

S~

M

116,488

116,488
58,244
17,473
40,771

113,424

3,064

HH W

1
1

,456,159
,019,311

131,055
305,793

1,362,240

93,919

307 212t01&

MW

1
1

,456,159
,019,311

131,055
305,793

1,362,240

93,919

" AISIEXAIEE X
oorolsg X

Mo W

1
1
1

,456,159
,456,159
,019,311

131,055
305,793

1,362,240

93,919

OI0IESSANHIA E2RIRE S FIOHIE

M

102,000
30,600
71,400

102,000

307 212t01&

M H

102,000
30,600
71,400

102,000

11 MEI=SXIAEEES
O0N0ISsSAHIA 21883 FIHKIZ

M H

102,000
102,000
30,600
71,400

102,000

EUNGE

1,140
342
78

in

1,140
342

1,140
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A WEFEAE
T OIS =AY
tel: OIS=EXIAE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
10 AlRISXIAIEEE 22X 2,322,189 2,252,025 70,164
ONHMH=& 943,153
Ol 2H[(178) 871,945
OO0tsE=H| 158,000 x 122 «33& 62,568
OJ1=2=24H| 720,000 * 122 8,640
O=ele=S¢t 1,379,036
Oel21H|(22%) 1,298,348
OOtsE S| 158,000 * 12E x38H 72,048
OJl=2gl 720,000 * 122 8,640
OlS=EXIAE 2E(EX) 547,387 547,660 VAR
& 273,693
= 273,6%4
307 glztol & 547,387 547,660 A273
= 273,693
o 273,6%4
10 AlISAAIEEE 22X 547,387 547,660 N273
OOts=EXAIE 2E(ExX) 547,387
= 273,693
o 273,694
OlSEXIAIE SALA =& (<Hl) 137,800 140,400 A2,600
[ 41,340
Ea 96,460
307 elztol & 137,800 0 137,800
S 41,340
= 96,460
10 Al2ISXIAIEEE 22X 137,800 0 137,800
OOIS=XAIE SAHA =&
2,600,000 x53H 137,800
= 41,340
Ea 96,460
OlS=XAIE SAHA XA ==E 25,920 25,920 0
307 212t01& 25,920 0 25,920
11 MEI=XAEE 25,920 0 25,920
OOIS=XAIE SAHAF A=
30,0003 x 122 x72&H 25,920
OlSSXAEIIs2S 1,000,000 1,000,000 0
Jl 500,000
< 150,000
[Ea 350,000
402 BIZtAH=01 A 1,000,000 1,000,000 0
Jl 500,000
=S 150,000
s 350,000
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PSER
o e

el

- HyS

Ofl &F2H

H
ol &y

©
i
o
i
Of
=z

©)
o
%
o
>
im
Jou
E

SO RmY MY

M

1,000,000
80,000
40,000
12,000
28,000
620,000
310,000

93,000
217,000
300,000
150,000

45,000
105,000

1,000,000

HH

620,424
310,212
124,085
186,127

508,500

111,924

307 212t01&

oA

620,424
310,212
124,085
186,127

508,500

111,924

10 AR S XAIE 2 E 22|

OXISOotsHH el2dl X

HL

ES

o

Mo A

620,424
620,424
310,212
124,085
186,127

508,500

111,924

M

38,200
7,640
30,560

38,200

307 212t01&

A H

38,200
7,640
30,560

38,200

10 Al SXAEEHE 22X

OXIHOISHIE Q1| X2 (SH])

M H

38,200
38,200

7,640
30,560

38,200

Moo

131,760
65,880
26,352
39,528

128,760

3,000

307 212t01™

SRRE]]

131,760
65,880
26,352

128,760

3,000

8




A WEFEAE
T OIS =AY
tel: OIS=EXIAE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 39,528
10 Al SXAZEE 22X 131,760 128,760 3,000
OXH0tsHE =34l A& 131,760
[ 65,880
= 26,352
o 30,528
NS0ISHE =0t 28] N2 21,600 21,600
307 @I2t01 & 21,600 21,600
10 AlISXAZEE 22X 21,600 21,600
OXlg0tsHt =Jt2gdl X3
300,000 * 122 6K & 21,600
KSotsHE SALA = (&Hl) 46,800 31,200 15,600
= 14,040
= 32,760
307 elztol & 46,800 0 46,800
= 14,040
[Ea 32,760
10 Al SAAEEHE 22X 46,800 0 46,800
OXSOtSHE BALL =5
2,600,0002 18 46,800
s 14,040
s 32,760
NS 0tsHE HHedl K& 9,000 9,000 0
S 2,700
= 6,300
307 lztol & 9,000 9,000 0
= 2,700
o 6,300
10 Al SXAAEEHE 22X 9,000 9,000 0
OXSOotSHE! et K& 9,000
S 2,700
o 6,300
Ol =X wAL I 68,374 62,091 6,283
[ 34,187
= 13,675
o 20,512
101 21A4H| 68,374 62,091 6,283
[ 34,187
= 13,675
o 20,512
03 SRH(RINAHA) 222+ 68,374 62,091 6,283
OXIH AL = XA Q124 30,340
OF40AI2t 30,340
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SN DSFAED
. OIS=AIAE
el OISSXAE 28 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 15,170
=S 6,068
s 9,102
OOtS=XI WAL 1 2H| 38,034
OZF12A12¢ 38,034
= 19,017
== 7,607
[Ea 11,410
OlsSS X WAL 49,960 51,950 21,990
101 @124H| 38,638 39,4838 A850
03 SRH(RINAHA) 222+ 38,638 39,488 AB50
(OINE:INEIEPADN; 16,318
OoJlzs 700,000 «12&«1H 8,400
Og &SIl 1,613,000& x22]+1H 3,226
O =H 125,000& x 128« 18 1,500
OAIt2l=& 18,0003 *12A1 2t 122 2,592
ou2rs| 50,0002 * 12 600
OO0IS=AI WA 22,320
Og&E=Itdl 500,000 *x22]x6 6,000
OJE+g 90,000 12E x4H 4,320
=1, 1,000, 000& x22] x6H 12,000
202 04t 960 300 660
01 =LHOHI 960 300 660
OXIHALZISXIAL 262 0]
80,0002 122 960
WM HsEE=S 10,362 12,162 1,800
M SRA(RIAHS) 22N EE2RE=s S 10,362 12,162 21,800
OXIS AL SXIA AW ES) | 2RE= & &
a0 623,500 x 122 7,482
OOIS=AIUAH 4HHES D223 € &ElA
=0 40,0002 x 1264 2,880
AGotsEad2012 24 149,490 83,666 65,824
= 74,745
= 14,949
o 59,7%6
307 el2tol & 149,490 83,666 65,824
= 74,745
& 14,949
= 59,796
10 Al SXAEEHE2EHI2x 149,490 83,666 65,824
OgdadotsEadEI12 2| K& 149,490
= 74,745
< 14,949

N
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o e

el

(o]
o

[0

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

H

59,796

M

27,610
5,522
22,088

18,850

8,760

307 212t01&

A H

27,610
5,522
22,088

18,850

8,760

M H

27,610
27,610

5,522
22,088

18,850

8,760

&9

M

2,

—_

476,262
361,890
261,101

85,861
572,289

,195,121

2,366,038

110,224

Mo W

456,986
319,890
68,548
68,548

506,115

A49,129

HoH W

456,986
319,890
68,548
68,548

506,115

249,129

HH W

456,966
456,986
319,890
68,548
68,548

506,115

A49,129

S~

M

830,720
74,765
8,307
747,648

981,440

A150,720

S

EUNGE

830,720
74,765
8,307
747,648

981,440

A150,720

S

M

830,720
830,720
74,765
8,307
747,648

654,640

176,080

_23_




SN DSFAED
. OIS=AIAE
2ol 22S0ts N (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ots=4l(&Hl) 460,275 0 460,275
= 460,275
301 EtE NS 460,275 0 460,275
< 460,275
02 A2 A6 (FHAAS, NLWE) 460,275 0 460,275
0315 ZANA(E, L, BEY)
9,500 x952*510H 460,275
=S 460,275
VEE SAHEY 2FAY 15,000 81,900 266,900
201 eer23| 15,000 4,900 10,100
01 AtR2t2|HI 15,000 4,900 10,100
O0ls=4A! JIUE =8 12,000
OotssA 0t ¢
2,000 *1,000H 2,000
O0ISBASIRE ML
100,0003 #5& *23] 1,000
dENYAE 24,000 12,000 12,000
= 16,800
& 3,600
= 3,600
301 EtE NS 24,000 12,000 12,000
= 16,800
< 3,600
[Ea 3,600
01 AR 2EHSHS(RDNEXRTH) 24,000 12,000 12,000
OX2IHEAE 1,000,000& x 123 +2&H 24,000
= 16,800
=S 3,600
s 3,600
& 0ts 258 XI& 118,560 135,600 A17,040
301 LELE NS 118,560 135,600 A17,040
02 MBI 2HEHSFHS(HAANS, KLHE) 118,560 135,600 A17,040
OIS OtE E25H] XA (7THIDI2H
340,000 x 12 x2H 8,160
OIS 0ts 25 XI&(7THI~13AMDI8H)
450,000 « 12 «8H 43,200
OJIEAE0tE 25| XA (13MI014})
560,000 x 122« 10 67,200
AAMEAS0ISES LI 2,000 2,000 0
301 EtE NS 2,000 2,000
02 MBI 2HHSFHS(HAANS, XLHE) 2,000 2,000
OXINEAE0ISESS LI
1,000,000& x2&H 2,000
A0S IHSAE 16,852 29,006 A13,1%4
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el

10 2 EI
HT O Ho
foi JiT 0%
S > b
o >
o R &

10

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

11,096
4,756

15,852
11,096
4,756

29,006

213,154

8,652,000& 1

HJ

15,852

7,200
5,040
2,160

8,652
6,056
2,59

29,006

A13,154

UMY

90,000
9,000
81,000

120,000

A30,000

Mo

90,000
9,000
81,000

120,000

/30,000

M H

90,000
90,000

9,000
81,000

120,000

230,000

H H W

36,000
25,200
3,240
7,560

72,000

236,000

HoH W

36,000
25,200
3,240
7,560

72,000

236,000

500,000& *x12&+6H

HoH W

36,000

36,000
25,200
3,240
7,560

72,000

236,000

SSZR0S (SMEOETZ X2

o= C o

A H

10,000
3,000
7,000

16,000

26,000

M H

10,000
3,000
7,000

16,000

26,000
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SN DSFAED
. OIS=AIAE
&el: RESOs XY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 MBI 2HHSFHS(HAANS, XLHE) 10,000 16,000 26,000
OE=5=0ts U483 s A&
2,000,000&+6% 10,000
= 3,000
Ea 7,000
2505 AEXE 12 1A 2] 8,000 8,000
301 LEtE NS 8,000 8,000
02 ANRI2HHSFS(HAAS, NLHE) 8,000 8,000
O=50lE MBXE 10 112 20|
800,000& *10H 8,000
FAHSOISSHMEIAXA 247,716 256,424 28,708
= 198,173
== 12,386
[Ea 37,157
101 e124d| 102,564 102,264 300
= 82,051
=S 5,128
s 15,385
03 SR (RIH )22 U2+ 102,564 102,264 300
OOtSSEAtAIZ2IAHSY) 102,564
@FiFal: = 100, 164
= 80,131
=S 5,008
s 15,025
O &# BN AR5 2,400
= 1,920
=S 120
s 360
201 223 22,592 25,8% 23,302
= 18,074
=S 1,130
s 3,388
01 At 2|l 11,392 12,400 21,008
OZEt=EH| 8,892
[ 7,114
S 445
Ea 1,333
OLEAHE 2R 344E
100,0003 5 +53] 2,500
= 2,000
= 125
o 375
03 A2 I 11,200 13,194 1,994




SN DEHLED
M Ol==SXIA
&el: RESOs XY (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OCSEAEIE &AI 29 11,200
= 8,960
T 560
= 1,680
202 0idl 5,760 1,800 3,960
= 4,608
T 288
= 864
01 =2LHO4 ] 5,760 1,800 3,960
OOt S A=t 2IAL 0]
160,000 * 122 +«3H 5,760
iy 4,608
& 288
= 864
301 LBENS 116,800 126,466 A9,666
iy 93,440
& 5,840
= 17,520
01 AISIBE X 2GS (2 LEZME) 113,800 123,266 A9,466
OXZ2 )8 FOAt Ots XA 113,800
ax 91,040
& 5,690
[ 17,070
11 AP S 3,000 3,200 2200
OZZ )8 FOAt SHAIAHIEA 3,000
iy 2,400
T 150
[ 450
CEAEHE(OISSEMBIAXIA) (XA 63,336 59,736 3,600
101 e124d| 36,336 36,696 360
03 SRA(RINHL) 222+ 36,336 36,696 A360
OO0t SE At 22l A 36,336
OPIr== 450,000 x 128 3 16,200
OZESOt| 1,636,000 *3F *23] 9,816
OFRY 125,000 * 128 3% 4,500
oxsx4Y 260,000& =12 3,120
Oti2lars| 50,000& x 123 +3H 1,800
OZIIMELHB 300,000 3% 900
M AIRE3S 27,000 23,040 3,960
M SRE(PIHS) 22X BE28E2 S 27,000 23,040 3,960
OOISSBARBA PEERLS L X
=0 750,000 x 122 35 27,000
OlsE2ESHYRA 78,660 76,760 1,900
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SN DSFAED
. OIS=AIAE
&el: RESOs XY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 62,928
=S 3,933
s 11,79
101 21AH| 68,660 66,760 1,900
[ 54,928
= 3,433
Ea 10,299
02 JIEtME = 68,660 66,760 1,900
OltsEsdgRE 22| 68,660
[ 54,928
= 3,433
= 10,299
201 er23| 3,500 3,500 0
[ 2,800
= 175
= 525
01 At2teltl 2,300 2,300 0
OAREEI MEY 2,300
= 1,840
< 115
s 345
2 s5=34l 1,200 1,200 0
ollsste= 1,200
= 960
< 60
s 180
202 04l 4,000 1,500 2,500
= 3,200
< 200
= 600
01 2LHoIH 4,000 1,500 2,500
©04H| 4,000
= 3,200
== 200
[Ea 600
307 glztol & 2,500 5,000 22,500
= 2,000
== 125
o 375
0122 & 3=l 2,500 5,000 22,500
O2fzHI(Mel2aAt & A2HA) 2,500
= 2,000
=S 125
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A3,800
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A 100
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MEE
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12,557
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78,200

57,000
3,000
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500
500

1,000
1,000

50,000
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2,500
2,500

6,200

6,200

6,200

Ofl &F2H

375
19,157
19,157
19,157

3,360
3,000

rH

4,397
8,400
74,400

1,240
73,160

56,900
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rH

2,900
2,900

900

2,000

500
500
500
1,000
1,000
1,000
50,000
50,000
50,000

2,500
2,500
2,500
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4,960

6,200
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H
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6,200

H

H
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1,240
4,960
10,000
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W

M
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S - B

101 e124d|
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02 JIEt

140,000 x 123 x2H

RO

1,500,000& x2H

9, 160& x20A| 2+ 12 +2H

700,000&*12&+1H

01 AtR2te|bl
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100,000& 5 & %4
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KF
ok
ol

[l

307 212t01™

X
10
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an
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o
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14 JIEt

4o
il
o}
ol
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SN DSFAED
. OIS=AIAE
=R olE=EX 2584 N (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 Ar=EHI 10,000 0 10,000
OO0tsE2lal HE +elial 10,000
Oelol =018 W2 At 1,300 15,000 A13,700
401 AlZHIZ S 0HbI 1,300 15,000 A13,700
01 A28l 1,300 15,000 13,700
OO O0I=0IE HE=
1,300,0002 19K 2 1,300
24¢ Ols 48 K& 1,164,839 1,370,991 A206,152
= 778,987
= 100, 156
o 285,696
oS¢ A& 1,112,839 1,330,991 A218,152
= 778,987
= 100, 156
[Ea 233,696
301 EtE N = 1,112,839 1,330,991 N218,152
= 778,987
== 100, 156
= 233,696
01 A2 HSFS(RNEERTHE) 1,112,839 1,330,991 N218,152
Oots+gA& 1,112,839
= 778,987
[ 100,156
T 233,696
Ols& Al ZEAS 52,000 40,000 12,000
201 Ler23| 30,000 30,000 0
01 At2teltl 2,000 0 2,000
O0tsa o= Al =P X ARE2F
g4g 100,000 x10E*23] 2,000
02 S3=gHl 5,000 0 5,000
OXNYERE 3 Az
5,000,000& 12 5,000
03 A= &I 23,000 30,000 /7,000
OXobts &g =0IH
10,000, 000& »23] 20,000
Ooltszet & Otsdel 82 B =9
300,000 %102 3,000
207 ARl 22,000 22,000
01 H7ESHI 22,000 22,000
OO0ISEIstZAl 7 2
22,000,000 13 22,000
a4 25 ¥ |4 3,399,753 3,479,187 AT9,434
= 24,446
Jl 270,313




A nsEAE
B ZAd ©5 U 84
cHel st 3449 =54 (Gt H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
< 63,505
s 3,041,489
HFAUANER2E 1,622,552 1,653,753 231,201
Il 268,213
S 50,782
T 1,303,557
DEZEAEHEHEZS 286,846 309,285 N22,439
101 @124H| 35,546 38,245 A2,699
04 JIZtN22 S8+ 35,546 38,245 A2,699
oJlzg 2,096,270 128 1Y 25,156
O R~ 80,2403 x112+1H 883
OAIZ2 22+
15,0452 +30AI 2t 122« 1H 5,417
o4 2= 31,454,080 *13% 4,090
201 L2 241,000 256,840 A15,840
01 AtR2telb] 41,800 39,000 2,800
OAletd 2te| EA4HI(HD] 2l 58)
1,600,000& « 122 19,200
OAEE 2l S|
600,000& x22 1,200
O&=D & BIIEE)| gXtz
300,000 *12& 3,600
oO=sgll iz 350,000 123 4,200
os=2= MH 2,000,000 *22 4,000
O =6 & 2E=5 78
800,000 122 9,600
02 S22l 66,900 72,440 Ab5,540
0332=(&J] 2 38)
4,300,000 123 51,600
O28=H Mos & =Ll
2,500,000& %12 2,500
Oda=H ANSAIE =Xl 1,000
O cHEAId FXH 250,000& *42] 1,000
O Kb 4,000,000& 13! 4,000
Ol M=+=x s8I 400,000 22 800
OAld2te| S 6,000
03 HAI2EHI 132,300 145,400 213,100
oExEESs X 121,300
O&4AH S0tel 29
800,000 » 1004 8,000
O34AH 23 & WS 23
500,000& x102 5,000
OFad 24992 24
200,000& 102 2,000

_31_




of
i’
oF
uJ

-

KIO

Hlw

3,900
3,900

5,000
5,000

8,500
21,000

AT7,500

MEE
Ofl &k2h

7,800
7,800

6,400

6,400

260,000
102,000
102,000

149,000

12,000

137,000

Ofl &F2H

1,000

3,000

1,500

10,000

18,000

10,000

10,000

33,600

16,000

3,200

5,000

3,000

3,000
7,800
7,800
7,800
2,500
2,500

800

900
800

260,000

107,000
107,000
107,000

140,500

11,000

6,000

5,000
129,500

- ESS

- SRA(E) - HIRAY

S - B

3

200,000 +5

RO

5

3,000,000 *1

A

ENSIANPIES

=
=]

O

5

1,500, 000& *1

30
0

0

=]
il
ur
ml
<
R0

3

2,000,000 #5

3

6,000,000 *3

30
i

HI
N

ol
10
i
<
R0

2

10,000,000 *1

500,000& x50t S+42

o

RO

700,0003 8 2t =+62

2,000,000 +8&

30
0K

-

i

ul

)
N
)

400,000 «8&

Fas
=

A8 XD+ A3

=

©

3

5,000,000 *1

300,000 *10&

3

1,500,000 *2

A EO{A A

©

405 Xt

]

ur
Kk
<

F

800,000& = 1CH

giolA) 2

(DIEH,

450,000 =2CH

OCCTvV 2LIHE TV 7Y

800,000 «1CH

101 @124H|

<+
)
KM

02 JIEt

OIIH el

01 AtR2telbl

©

3

M

U]
iy
0

2,000,000&+3

=1

500,000&*10

]

80
0H

SH
=

03

_32_



2A:

B HAE B3 U 84
chelr HAHAE2Y (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OXZANEX 22 350,000 «10& 3,500
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oOrZ2usE 29 5,200,000& *10& 52,000
oxlzetes 29 39,000,000 *13] 39,000
O=s = @A 2Z 10,000,000 12l 10,000
202 bl 4,000 4,000
01 =LHO4 b 4,000 4,000
©0dl 4,000
301 LPBNEF 6,500 6,500
11 SHALAHIXIAZ 6,500 6,500
OHA ZHOA+ &I 6,500
308 AXISHMSOIH 2,000 2,500 2500
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0822 Y ADE 2|
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Jl 1,500
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Ea 1,050
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Il 1,320
= 3%
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OHSHA HURED
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[Ea 1,050
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03 A= I 17,400 17,400 0
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O&204y| 40,0002 * 123 +8H 3,840
N4 HASREIS 83,328 83,328
M SRAE(RINHS) 22X BE28H2 S 83,328 83,328
o4t E8= 43,200,000 *13%*8Z 44,928
OEI&AZ 400,000 x 122 +8H 38,400
KSAS H A O Y 108,740 107,520 1,220
| 54,370
= 54,370
101 2124 d| 89,540 88,354 1,186
| 44,770
i 44,770
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= 932
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201 LEr2 | 18,600 18,200 400
| 9,300
= 9,300
01 ArR2eltl 1,600 2,200 AB600
082S 2 APE 7Y
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= 700
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O 0oPt= &g L AHC 2
250,000& * 103 2,500

_39_




2A:

X ZH -
o=

ol Bad (el @e)
SA - B GR(31) - HIRAY - BES il &k e HlmS2

| 1,250
= 1,250
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03 SR (RIHL) 22X E S 45,098 42,786 2,312

OJI2=(HLH)
2,774, 7002128 x1H 33,297
| 16,648
& 8,324
i 8,325
O©JI12=(AI2HAI)

1,180, 100&*10&*1¥ 11,801
| 5,901
= 2,950
= 2,950

201 B2 AL| 2,950 3,350 A400
| 1,475
= 738
= 737

03 ALZ | 2,550 2,550 0




2A:

Hu: Fad 25 9 54
Chel: HAHAIER2S (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=3tME 68,0002 30«13 2,040
Jl 1,020
== 510
[Ea 510
OAtell -+IHBIA 255,000 22 510
Jl 255
== 128
[Ea 127
04 SN A 400 800 2400
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